Chemical Composition and Mechanical property
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1070 0z 0.25 0.04 0.03 0.03 - - 0.04 V.0.05 0.03 - 0.03 - 9.7 =75 =35 =12 |
1RSSR 1060 025 0.35 0.05 0.03 0.03 - - 0.05 V:0.05 0.03 - 0.03 - 996 =70 =32 =10
AL 1050 0.25 04 0.05 0.05 0.05 - - 0.05 V:0.05 0.03 - 0.03 - 95 =75 =35 =12
1100 0.05 0.05 - - - 0.1 - - - 0.05 0.15 99 =70 =30 =10
3003 0.6 07 0.05-0.2 1.0-1.5 - - - 0.1 - - - 0.05 0.15 Remaining =100 =55 =12
3103 05 0.7 0.1 0.9-15 0.3 0.1 - 0.2 TisZr:0.1 - - 0.05 0.15 Remaining =120 =70 =28
i{_‘;‘ﬁ 3004 03 0.7 0.25 1.0-15 08-13 - - 0.25 - - - 0.05 0.15 Remaining =110 =60 =20
3005 06 07 03 1.0-1.5 0.2-06 0.1 - 0.25 - 0.1 - 0.05 0.15 Remaining =120 =65 =22
3105 086 07 0.3 03-08 0.2-0.8 0.2 - 04 - 0.1 - 0.05 0.15 Remaining 2115 =68 =20
5005 03 0.7 0.2 02 05-1.1 0.1 - 0.25 - - - 0.05 0.15 Remaining >245 =120 =20
5052 025 07 01 0.1 22-28 0.15-0.35 - 0.1 - - - 0.05 0.15 Remaining =120 =80 =18
5082 02 0.35 0.15 0.15 4.0-5.0 0.15 - 0.25 - 0.1 - 0.05 0.15 Remaining 2370 =320 =16
it:‘g 5182 02 0.35 0.15 0.2-05 4.0-5.0 0.1 - 0.25 - 0.1 - 0.05 0.15 Remaining =280 =146 =20
5083 04 0.4 0.1 0.4-1.0 4.0-49  0,05-0.25 - 025 - 0.15 - 0.05 0.15 Remaining =378 =338 =18
5183 0.4 0.4 0.01 05-1.0 43-52 0.05-0.25 - 025 0.15 - 0.05 0.15 Remaining =380 =345 =20
5086 05 0.1 02-07 35-45 0.05-0.25 - 025 - 0.15 - 0.05 0.15 Remaining =280 =146 =20
6005 0.35 0.1 0.1 0.4-06 0.1 - 0.1 - 0.1 - 0.05 0.15 Remaining =315 =278 =15
6060 0.1-03 0.1 0.1 0.35-06 0.05 - 0.15 - 0.1 - 0.05 0.15 Remaining =330 =280 =18
:L'—::?I 6061 0.4-08 0.7 0.15-0.4 0.15 08-12 0.04-0.35 = 025 - 0.15 - 0.05 0.15 Remaining =335 =285 =18
6063 0.2-0.6 0.35 0.1 0.1 0.45-0.9 01 - 0.1 - 0.1 - 0.05 0.15 Remaining 2330 =280 =20
6070 1.0-1.7 05 0.15-0.4 0.4-10 05-12 [ A) - 0.25 - 0.15 - 0.05 0.15 Remaining =350 =280 =20
7021 0.35 0.4 0.2 0.45 1.2 03 - 45 2r3Ti: 0.2 = 0.12 0.05 0.15 Remaining =600 =550 =18
TRBSME 7022 05 05 0.5-1.0 0.1-04 26-3.7 0.1-0.3 - 4.3-52  ZraTi:0.2 - - 0.05 0.15 Remaining =620 =550 =16
AL-Zn-Mg-Cu 7050 0.12 0.15 2.0-26 01 1.8-26 0.04 - 5.7-6.7 - 0.08 0.08-0.15 0.05 0.15 Remaining =650 =580 =20 »




